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The ginth of the ice, combined with gravity's influence, causes glaciers ic fow =
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- According to paragraph 4, what is a negative effect of living too cldse to a glacier?

The un?damnfed word remote, as used in paragraph 4 of the passage, most nearly
means :

The passage explains that glaciers can be found where?

According to the passage, why does glacial ice often appear blue?

After reading the passage, what can one conclude about glaciers?

After reading the passage, what can one infer about glaciers?
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underlined part is grammatically incorrect
rest is fine 
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